\éi EXDEAVEELE
N v‘ FAVWDLY EBYDHB-LE 3 (1)
n
ROHEELEL LS,

600g+ 850¢g | kg450g + 2kg550g
350g+700g 4kg200g+ 2kg950g
300g+950¢g 3kg400g+ 3kgg00g
550g+850¢g 2kg650g + 5kg850¢g
900g+900g 2kg300g + 6kg800g

. R NFE - RRERT o NERFB U

-—?—%' .com ETOFET U b WebH+ bOSERTY D> O—-RTEFI,  https://FEBTJ> b.com



\éi %‘i‘@f:k\"t%bﬁ
NS V‘ FAVWDOLY ERYDHZ7-LE 3 (2)
|
ROHEELELLD,

450g+900g Tkgb00g+ 1 kgb650g
| kg800g + 3kg800g 2kg 1 50g+ 3kg900g
850g+ 850g 2kg350g + 4kg750g
950g+50g 3kg600g + 3kgb600g
850g+700g 950g+450¢g

. R NFE - RRERT o NERFB U

-—?—%' .com ETOFET U b WebH+ bOSERTY D> O—-RTEFI,  https://FEBTJ> b.com



\éi %‘i‘@f:k\"t%bﬁ
i v‘ fAVWDLY ENYDHS-LE 3 (3)
|
ROHEELEL LI,

900g+ 750g 350g+850g
5kgb50g+ 1 kg750g 3kg700g+ 2kg900g
| kg300g + 2kg850¢g 500g+950¢g
| 50g+850¢g 2kg650g + 2kg350g
450g+ 800g 4kg800g+ 3kg950¢g

. R NFE - RRERT o NERFB U

-—?—%' .com ETOFET U b WebH+ bOSERTY D> O—-RTEFI,  https://FEBTJ> b.com



\éi EXDLAVEERLE
N v‘ FAVWDLY ERYDHS-LE 3 (4)
n
ROHEELEL LS,

| kg450g+ 3kgb650g 650g+ 850¢g
4kg950g+ I kg1 00g 2kg750g+ 2kg750¢g
800g+500¢g 3kg350g +5kg850¢g
| kg850g + 5kg700g 950g+900g
750g+950¢g 2kg800g + 5kgb650g

. R NFE - RRERT o NERFB U

-_7_%' .com ETOFET U b WebH+ bOSERTY D> O—-RTEFI,  https://FEBTJ> b.com



\éi EXDLAVEERLE
N v‘ FAVWDLY EBYDHB-LE 3 (5)
n
ROHEELEL LS,

600g+ 850¢g | kg450g + 2kg550g
350g+700g 4kg200g+ 2kg950g
300g+950¢g 3kg400g+ 3kgg00g
550g+850¢g 2kg650g + 5kg850¢g
900g+900g 2kg300g + 6kg800g

. R NFE - RRERT o NERFB U

-—?-%' .com ETOFET U b WebH+ bOSERTY D> O—-RTEFI,  https://FEBTJ> b.com



\éi %‘i‘@f:k\"t%bﬁ
NS V‘ FAVWDOLY ERYDHZ7-LE 3 (6)
|
ROHEELELLD,

450g+900g Tkgb00g+ 1 kgb650g
| kg800g + 3kg800g 2kg 1 50g+ 3kg900g
850g+ 850g 2kg350g + 4kg750g
950g+50g 3kg600g + 3kgb600g
850g+700g 950g+450¢g

. R NFE - RRERT o NERFB U

-—?—%' .com ETOFET U b WebH+ bOSERTY D> O—-RTEFI,  https://FEBTJ> b.com



\éi %‘i‘@f:k\"t%bﬁ
i v‘ FAVWDLY ENYDHS-LE 3 (7)
|
ROHEELEL LI,

900g+ 750g 350g+850g
5kgb50g+ 1 kg750g 3kg700g+ 2kg900g
| kg300g + 2kg850¢g 500g+950¢g
| 50g+850¢g 2kg650g + 2kg350g
450g+ 800g 4kg800g+ 3kg950¢g

. R NFE - RRERT o NERFB U

-—?—%' .com ETOFET U b WebH+ bOSERTY D> O—-RTEFI,  https://FEBTJ> b.com



\éi EXDLAVEERLE
N v‘ FAVWDLY ERYDHS-LE 3 (8)
n
ROHEELEL LS,

| kg450g+ 3kgb650g 650g+ 850¢g
4kg950g+ I kg1 00g 2kg750g+ 2kg750¢g
800g+500¢g 3kg350g +5kg850¢g
| kg850g + 5kg700g 950g+900g
750g+950¢g 2kg800g + 5kgb650g

. R NFE - RRERT o NERFB U

-_7_%' .com ETOFET U b WebH+ bOSERTY D> O—-RTEFI,  https://FEBTJ> b.com
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ROHEELEL LS,

600g+850g=|450¢g
= 1 kg450g

350g+700g=1050g
= | kgb0g

300g+950g=|250g
= | kg250g

550g+850g= 1400g
= | kg400g

900g+900g= 1800g
= | kg800g

. R INPE - REEREY OVENPE LU~

By .com

fAVDLYY EDNYDH2-LE 3 (1)

| kg450g+ 2kg550g = 3kg 1 000g
=4kg

4kg200g+ 2kg950g =6kg | | 50¢g
="7Tkg |1 50g

3kg400g+ 3kg900g = 6kg | 300g
="7kg300g

2kg650g+5kg850g ="7kg | 500g
=8kg500g

2kg300g + 6kg800g =8kg | 100g
=9kg100g

2TOEET V> MWebH+ M SERTH O O— RTEET, https://Z&7U > k.com



g{%‘l EXDIEAVEELS
7

1\ FAVWDLY EBYDHS-LE 3 (2)
ROHEELEL LD,
450g+900g=1350g Tkgb00g+ 1 kg650g =8kg | 250g
= 1 kg350g =9kg250g
| kg800g + 3kg800g =4kg | 600g 2kg150g+ 3kgg900g =5kg | 050¢g
=5kg600g = 6kgb0g

850g+3850g=1700g
= | kg700g

950g+50g = 1000g
= lkg

850g+700g= 1550g
= | kgb50g

. R INPE - REEREY OVENPE LU~

By .com

2kg350g+ 4kg750g =6kg | 1 00g
="Tkg 1 00g

3kg600g+ 3kgb00g =o6kg | 200g
="7kg200g

950g+450g=1400g
= 1 kg400g

2TOEET V> MWebH+ M SERTH O O— RTEET, https://Z&7U > k.com



B ExpranrELS
\®n :
‘V AVDLY ERYDHZ1-LE 3 (3)
ROHEELIL LS,
900g+750g= 1650¢g
= | kg650g

5kg550g+ | kg750g=6kg | 300g
=Tkg300g

| kg300g + 2kg850g = 3kg | 1 50g
=4kg|150g

| 50g+850g= 1000g
= lkg

450g+800g=1250g
= | kg250g

. R INPE - REEREY OVENPE LU~

By .com

350g+850g = | 200g
= | kg200g

3kg700g+ 2kg900g =5kg | 600g
= 6kg600g

500g+950g = | 450¢g
= | kg450g

2kg650g+ 2kg350g =4kg | 000g
=5kg

4kg800g+ 3kg950g ="Tkg|750g
=8kg750¢g

2TOEET V> MWebH+ M SERTH O O— RTEET, https://Z&7U > k.com



%?@fzk\"t%bﬁ

bl
qv‘ FAWDLYELYDHZ-LE 3 (4)

ROHEELEL LS,

| kg450g+ 3kgb50g=4kg| 100g
=5kg100g

4kg950g+ I kg1 00g=5kg 1050g
=6kg50g

800g+500g= 1300g
= | kg300g

| kg850g + 5kg700g=6kg | 550¢g
=Tkg550¢g

750g+950g=1700g
= 1 kg700g

. R INPE - REEREY OVENPE LU~

By .com

650g+850g = | 500¢g
= 1kg500g

2kg750g+ 2kg750g =4kg | 500g
=5kg500g

3kg350g+5kg850g =8kg | 200g
=9kg200g

950g+900g=13850g
= | kg850¢g

2kg800g + 5kg650g ="Tkg | 450¢g
=8kg450g

2TOEET V> MWebH+ M SERTH O O— RTEET, https://Z&7U > k.com
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ROHEELEL LS,

600g+850g=|450¢g
= 1 kg450g

350g+700g=1050g
= | kgb0g

300g+950g=|250g
= | kg250g

550g+850g= 1400g
= | kg400g

900g+900g= 1800g
= | kg800g

. R INPE - REEREY OVENPE LU~

By .com

fAVDLY EDNYDHS2-LE 3 (5)

| kg450g + 2kg550g = 3kg | 000g
=4kg

4kg200g+ 2kg950g =6kg | | 50¢g
="Tkg |1 50g

3kg400g+ 3kg900g = 6kg | 300g
="7kg300g

2kg650g+5kg850g ="7kg | 500g
=8kg500g

2kg300g + 6kg800g =38kg | 1 00g
=9kg100g

2TOEET V> MWebH+ M SERTH O O— RTEET, https://Z&7U > k.com



g{%‘l EXDIEAVEELS
7

1\ FAVWDLY ERYDHS-LE 3 (6)
ROHEELEL LD,
450g+900g=1350g Tkgb00g+ 1 kg650g =8kg | 250¢g
= 1 kg350g =Q9kg250g
| kg800g + 3kg800g =4kg | 600g 2kg 1 50g+ 3kgg900g =5kg | 050¢g
=5kg600g = 6kgb0g

850g+3850g=1700g
= | kg700g

950g+50g= 1000g
= lkg

850g+700g= 1550g
= | kgb50g

. R INPE - REEREY OVENPE LU~

By .com

2kg350g+ 4kg750g =06kg| 100g
="Tkg 1 00g

3kg600g+ 3kgo00g =6kg | 200g
="7kg200g

950g+450g= 1400g
= | kg400g

2TOEET V> MWebH+ M SERTH O O— RTEET, https://Z&7U > k.com



%?@fzk\"t%bﬁ

bl
qv‘ FAVWDLYELYDHZ-LE 3 (7)

ROHEELEL LS,

900g+750g= 1650¢g
= | kg650g

5kgb50g+ 1 kg750g =6kg | 300g
="Tkg300g

| kg300g + 2kg850g =3kg| | 50g
=4kg | 50g

| 50g+850g= 1000g
=l kg

450g+800g=1250g
= | kg250g

. R INPE - REEREY OVENPE LU~

By .com

350g+850g= | 200g
= 1kg200g

3kg700g+ 2kg900g = 5kg | 600g
= 6kg600g

500g+950g=1450g
= | kg450g

2kg650g+ 2kg350g =4kg | 000g
=5kg

4kg800g+ 3kg950g="kg|750¢g
=8kg750¢g

2TOEET V> MWebH+ M SERTH O O— RTEET, https://Z&7U > k.com



%?@fzk\"t%bﬁ

bl
1\\_,1‘ FAVWDLY ERYDH21-LE 3 (8)

ROHEELEL LS,

| kg450g+ 3kgb50g =4kg| | 00g
=5kg100g

4kg950g+ I kg1 00g =5kg 1 050¢g
=6kg50g

800g+500g= 1300g
= | kg300g

| kg850g + 5kg700g = 6kg | 550g
=Tkg550¢g

750g+950g=1700g
= 1 kg700g

. R INPE - REEREY OVENPE LU~

By .com

650g+850g = | 500¢g
= 1kg500g

2kg750g+ 2kg750g =4kg | 500g
=5kg500g

3kg350g+5kg850g =8kg | 200g
=9kg200g

950g+900g = 13850g
= | kg850¢g

2kg800g + 5kg650g ="Tkg | 450¢g
=8kg450g

2TOEET V> MWebH+ M SERTH O O— RTEET, https://Z&7U > k.com
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